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Answer the following questions about Farmer Brown's Garden. Explain your work using pictures,
words, and symbols.

1) What fraction of the garden is planted with tomatoes? Green beans? Peppers? Cucumbers?
71 How much more of the garden is planted with tomatoes tharr with cucumbers?

1
3} Farmer Brown wanis o fertilize exact!y-z- of the garden today. What combination of

vegetables covers exactly one-half of Farmer Brown’s garden? Can you find other

i ST combinations that would also cover exactly one-half of the garden? : @
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Answer the following questions about Farmer Brown’s Garden. Explain your work using pictures,
s

words, and symbols.
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1) What fraction of the garden is planted with tomatoes? Green beans? Peppers? Cucumbers? |

2) How much more of the garden is planted with tomatoes than with cucumbers?

1
3} Farmer Brown wants to fertilize exactly—i of the garden today. What combination of

vegetables covers exactly one-half of Farmer Brown’s garden? Can you find other

combinations that would also cover exactly one-half of the garden?
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Answer the following questions about Farmer Brown’s Garden. Explain your work using pictures,

words, and symbols.
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1) What fractlon of the garden is planted with tomgtoes? Green geans'»’ Pep%ers? Cuc‘u mbers'-’

How much more of the garden is planted with tomatoes than with cucumbers? . %O

1
Farmer Brown wants to fertilize exactly % of the garden today. What combination of

vegetables covers exactly one-half of Farmer Brown’s garden? Can you find other
combinations that would also cover exactly one-half of the garden?
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Answer the following questions about Farmer Brown’s Garden. Explain your work using pictures,

words, and symbols.

1) What fraction of the garden is planted with tomatoes? Green beans? Peppers? Cucumbers?
How much more of the garden is planted with tomatoes than with cucumbers? _...
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3) Farmer Brown wants to fertilize exactlyg of the garden today. What combination&c;f

vegetables covers exactly one-half of Farmer Brown’s garden? Can you find other

combinations that would also cover exactly one-half of the garden?
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Answer the following questions about Farmer Brown’s Garden. Explain your work using pictures,
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1) What fraction of the garden is planted with tomatcés? Green beans? Peppers? Cucumbers?
2) How much more of the garden is planted with tomatoes than with cucumbers? -;é—

words, and symbols.

1 ' :
3) Farmer Brown wants to fertilize exactly > of the garden today. What combination of

végeta bles covers exactly one-half of Farmer Brown’s garden? Can you find other

combinations that wo?/ld also cover exactly oneﬂ-half of the garden? :_’ﬁ‘% Aohi0eG€ § ,
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Farmer Brown planted a garden with different vegetables:
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Answer the following questions about Farmer Brown’s Garden. Explain your work usmg pictures,

words, and symbols.
1)
2)
3)
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What fraction of the garden is planted with tomatoes? Green
How much more of the garden is planted with tomatoes than with cucumbers?_L
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Farmer Brown wants to fertilize exactly 2 of the garden today. What combinatidé;l of

vegetables covers exactly one-half of Farmer Brown’s garden? Can you find other *
combinations that would also cover exactly one-haif of the garden?
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Answer the following questibns about Farmer Brown’s Garden. Explain ybur work using pictures,
words, and symbols.

'1} What fraction of the garden is planted with tomatoes? Green beans? Peppers? Cucumbers?
2} How much more of the garden is planted with tomatoes than with cucumbers? ( @ o Eﬂfﬁ i

: 1
3} Farmer Brown wants to fertilize exactIyE of the garden today. What combination of

vegetables covers ekactly one-half of Farmer Brown’s garden? Can you find other
combinations that would also, cover exactly one-half of the garden?
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